SNOWBALL BUCK$

PA-1430 ON SALE NOW

\ PENNSYLVANIA
\ LOTTERY

P
I' REVEAL A %2, (SNOWBALLS) SYMBOL, WIN PRIZE SHOWN By ey
|3 setow T s CHANCES ARE CONSOLIDATED
A WIN WITH: WIN: 1IN: CHANCES ARE 1 IN:
$2 $2 8.82 $2 = 8.82
§ Bt $4 42.86
E $4 $4 37.50 $4 =20.00
$5 $5 62.50 $5 = 62.50
$2x5 S10 187.50
P $5x2 S10 150.00
o S10 S10 150.00 $10 = 53.57
BUCKS w/ ($2x 10) $20 83.33
Yl $4x5 §20 1,500
1 ($2x5) + $10 $20 1,500
(54x3) + ($2x4) $20 1,500
$20 $20 1,500 $20 = 68.18
'l Bucks w/ ($4x10) $40 1,200
[ Bucksw (($4x5) + ($5x2) + ($4x2) + $2) $40 1,200
BUCKS w/ (($5 x 6) + ($2x 3) + $4) $40 1,200
3 104 $40 6,000
(S5x4) + ($10x2) $40 4,000
[ W (510x2) + (58x2) + ($2x6) 540 4,000
s $40 $40 8,000 $40 = 303.80
BUCKS w/ (510 x 10) $100 4,000
(3 BUCKS w/ (($20x2) + ($10x4) + ($5x4)) $100 4,000
BUCKS w/ (($20 x 3) + (310 x 2) + ($4x 5)) $100 4,000
p $20x5 $100 6,000
(540 x 2) + $20 $100 6,000
o $100 $100 24,000 $100 = 888.89
s BUCKS w/ (520 x 10) $200 24,000
BUCKS w/ (($40x 2) + ($20 x 5) + ($5x 2) + $10) $200 24,000
|l BUCKS w/ (($40 x3) + (520x3) + ($5x4)) $200 24,000
$40x5 $200 40,000
P $100x 2 $200 40,000
(540 2) + (520 x 6) $200 40,000
l $200 $200 60,000 $200 = 4,615
E BUCKS w/ (($100 x 2) + (540 x 7) + $20) $500 120,000
BUCKS w/ (($100 x 3) + (540 x 4) + ($10x 2) + $20) $500 120,000
A $100x5 $500 120,000
$500 $500 120,000 $500 = 30,000
s BUCKS w/ (5100 x 10) $1,000 1,080,000
E BUCKS w/ (5200 x 2) + ($100 x 5) + ($40x 2) + $20)  $1,000 1,080,000
$200x 5 $1,000 1,080,000
$500x 2 $1,000 1,080,000
P $1,000 $1,000 1,080,000 $1,000 = 216,000
o $20,000 $20,000 1,080,000 $20,000 = 1,080,000
s REVEAL A “ o £ 7 (BUCKS) SYMBOL, WIN ALL 10 PRIZES SHOWN! OVERALL CHANCES
- OF WINNING: 1 in 4.60
T Prizes, including fop prizes, are subject to

availability at the fime of purchase.




